&> MATHDICE CI LT

SOLUTIONS
BASIC: SET A

BASIC - 1A

Target Pins Your Equation
(3-1)*5=10
0@ (12
(5-1)*3=12
(3*5)-1=14
(3*5)+1=16
@ (1+5)*3=18

Scoring Numbers

BASIC - 2A

Target Pins Your Equation

(3-1)*6=12
(6-1)*3=15
(3*6)-1=17
Can't Be Hit
(3*6)+1=19
(1+6)*3=21

Which Target cannot be hit? m

Scoring Numbers
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&> MATHDICE CI LT

SOLUTIONS
BASIC: SET B

BASIC - 1B

Target Pins Target Pin # Your Equation

(1)1 @ G-
@) ()

(4*5)-1=19
@ (4*5)+1=21

@ (1+5)*4=24
@ Can't Be Hit

Which Target cannot be hit?

Scoring Numbers

BASIC - 2B
Target Pins Target Pin # Your Equation

(3*5)-4=11

Can’t Be Hit

@)
(9
(3*5)+4=19
@
@
()

(4*5)+3=23

(4 + 5)* 3 =27
(3 +5)*4=32

Which Target cannot be hit? m

Scoring Numbers

®@®© 2018. This program belongs to ThinkFun, Inc. Visit us and learn more at www.mathdice.com This work is licensed under the Creative Commons Attribution-NonCommercial-ShareAlike 4.0
International License. To view a copy of this license, visit http://creativecommons.org/licenses/by-nc-sa/4.0/ or send a letter to Creative Commons, PO Box 1866, Mountain View, CA 94042, USA



